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7’02

Intro
Today we will 7”va learn 7"3 97 of 37710 nOoN
Some of the topics we will learn about include.

The Machlokes regarding

NN

D179 1OR 12 10Y RS

What is the minimum age of the 25w3?

Three Halachos regarding nxyn, a partial nx»a.

The two reasons in the Mishnah’s Halachah of

102 nnan Sy Ran

If a person had relations with an animal, both the person
and the animal are punished with 7’0, because of
PN

The animal was the cause of the person’s transgression;
and

P

If the animal was to remain alive this would cause
embarrassment to the person, as people will point and say
this animal caused so and so to be stoned.

However, the Gemara discusses whether

YA RPN

We need both reasons;

The nnmais killed only if it causes both n5pn and 15p;
OR

1oP PRW 9”VR 75PN

Or

OPN PRY 9"VR 1OR

One reason is sufficient;

The mmnais killed even if it causes only one;

Either n5pn or 1op;

The distinctions between the following three Halachos

1.

A7 Y K37 01910 T2

Sopm

Ifanon-Jew had relations with an animal, is the animal is
killed?

2.

TPUNRXY

QR

If anon-Jew worshipped a 77w« tree, the tree must be
burned and destroyed.

3,

However

MY MNWnN

Sopn RS

If someone bowed to his animal as an 779t 772, the animal
is not killed and remains permitted in all benefits.

The Gemara cites a Mishnah in N2’ noon which teaches
TR 0P D30 WHW N2

AR OV D30 VYN 2

In order, for 782 to be of Halachic significance, a girl
must be at least three-years-old and a boy must be at least
nine-years-old.
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ARIYN

NNNAN Yy Ran
nYpo2

R ¢ NSpn

NOP PRW 7YX NYPN
NYPN PRW 7YX 1O

02010 721
NNNAN Y Ran
20pMm

NPOR XY
77

INNNAY MNNWNN
207 RY

TNXR 017 D21V WOV N2
TNR 01 D7W YWN 2
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So let'sreview ...

The Gemara cites a Braisa

M PN

51730 JOP 12 WY RS

Regarding the Issur of 951 20w, the 297, the one who
performed the act, is 21 only if the 20w3, the passive one,
was of minimum age, but not if he was extremely young.
However,

nna

I TI0pR N2 WY

Regarding the Issur mit with a i3, the 297w is 270
regardless of the n»na's age.

The Gemara cites a Machlokes in

=l

51730 JOP 12 WY RS

The minimum age of the 210w3;

17 says

DIV YWD 120 MN9 DN WY RS

DI YW j20

The 20w is 2717 only if the 210w1 was at least nine years old.
But the 201 is Moo if the 215w3 was younger than nine
years old; because

20WIA 7PIYR 2913 PIPRT DO

DV AW TPIITON

Only one who can be considered a 297, can also be
considered a 20w

But a boy of less than nine years cannot be considered a
20w, because ®

NI 782 728D Ywn 120 NS

Therefore, he also cannot be considered a 20w.

While SRnw says

010 WHW 121 MND NI WY RS

DI WHW 120

The 237w is 270 if the 20w1 was at least three years old. But
the 20w is Mo if the 210wW3 was younger than three years
old, because the Pasuk of 715t 20w states

IR 250N 1DWN RY 198 NN

The Issur mit with a 951 is compared to Mt with a woman;
and a woman is considered nxa5 7x7 from age three.
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/:/)/17,3

V%
NOT
1720 VP 12 WY KD

Regarding the Issur of 751 20w,
the 201, the one who performed the act, is 370
only if the 25w, the passive one, was of minimum age,
but not if he was extremely young. However,

N2
NMTAd MYVP N2 WY

Regarding the Issur mot with annn2,
the 20w is 2on regardless of the npna’s age.

/?e?ar/m?/ the minimum age % the Y:

Sy EY
MND NR2IVY XY NN VY XY
DNW '3 )20 D71V 'V ]2 MND
07w ’1J20 D7® 'Y 125
The 20w is2»n only if the2owa  The 20w is 270 only if the 20w

was at least 3 years old. was at least g years old.
Because the Pasuk states Because

SobrmxDOof M 202 MINNT 5D
=N = obrm 20wWi2 MMNN
The Issur mot with a o1 is 20w2 MMST 5
compared to motr with a 2OwWI2 Mb
woman; and a woman is But a boy of less than nine
NRb IR from age three. cannot be considered a 20,
because
ED 13N HIND
IO OHY3 93 115
%r%ﬁr&, he alho cannat
be considered w Y.
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The Gemara proceeds with 3 Halachos regarding nx7m, a
partial nxoa.

1.

N2 7N

7N

If a male performs a partial 7x°2 with another male he is
271, because the Pasuk states

TR M1OVN 2DWN RS 797 NN

And for nx7n with a forbidden woman, one is 277,

2.

Mlerp=mEan)ilen]

N

If one performs a partial 7x°2 with an animal he is 2,
because in the Pasuk of X minxi var mnx the word X
is superfluous; therefore

APIAT ARV PIV PN

3,

MY FIVNA

If a male performs a partial nx>2 with himself, since this
would only be possible

nnwnwmnl

If the 7) was soft;

Therefore, it depends on the following Machlokes:
According to the opinion of

OO NIV DD WNWD

TNOO NRIA

He is exempt.

While according to the opinion of

[ NPV DN VUNWD

NN 271D RO

If it was xwa he brings two nxon mMi27p, one as the 215w,
and one as the 20w

Dedicated By:
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3 Haluchoy re?am/m?/ s - wpartiad p
1

072 NIYNN
2N
If a male performs a partial nn2 with another male
heis ann, because the Pasuk states

SN "I Sotm NS ~af
And for nmwn with a forbidden woman,
oneis .

2

NNN22 NIYNN
2N
If one performs a partial nna with an animal he is 270,
because in the Pasuk of 1R mNR) p2R DINR
the word nNawn is superfluous;

fh@r%m
nNPNIT ﬂN?Dﬂ.’) P2 1iPI1

3
1NXRY2 NIYNN

If a male performs a partial nn2 with himself,
since this would only be possible

np wypwpa
Ifthe 12 was soft;

It /eﬂm/@ o the /Mhumg/ Wachlokes:
/Fccom/(//z?/ /fccor/m?/ ty the opinion o/

o f/mop&m’omof
N2 NN VYNYN M?IY2 NN WNWN

MNOD
TOD RN

2N
NN 27NN RIN

Ifit was anwa he brings two
DRDN M), one as the 20w,
and one as the 2ow).
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The Gemara returns to that which the previous Mishnah
taught

1737 5P RIN

D DR IRV TURM

Trpoa

If a person had relations with an animal, both the person
and the animal are stoned. And the Mishnah asked

ROM DR DX

AROM D N2

Only the person sinned, but the animal did not sin, if so
why is it stoned?

For which the Mishnah gave two reasons

1.

77 5V 75PN DTRS IR 95

Because the animal was the cause of the person’s transgres-
sion.

2.

1WA NI ABNA RN ROW

a7 5Y 1990 SPoIw RO IR

If the animal was to remain alive this would cause
embarrassment to the person, as people will point and say
this animal caused so and so to be stoned,

The Gemara proceeds to discuss whether
YA RN

We need both reasons;

The nnmais killed only if it causes both n5pn and 15p;
OR

5P PRY 9"VR 15PN

Or

15PN PRY O"VR 5P

One reason is sufficient;

The nmnais killed even if it causes only one;
Either m5pn or 1op;

DafHachaim.org

yhep o 1he
mmaman 5
MDD NN NN NN N

both the person and the animal are punished
with n>pp.

Pt
NIM DN O
PN 17D 13

Only the person sinned, but the animal did not sin,
if so why is it stoned?

The Wishnalh ansuers;
T 5 1opn 0N PNaw 0 8ON

P NI AT NN 8O N
MHD OO KT N 1NN
amile)

this would cause embarrassment to the person,
as people will point and say this animal
caused so and so to be stoned.

12°v2 N5 NYpPn
We need both reasons;

The nnina is killed only if it causes both
nbp - nbpn
OR
pbp PR ©7DR ndpn
OR
NOPN PRY D”INR NOP
One reason is sufficient;

The nnna is killed even if it causes only one;
either nbpn or pbyp;
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1.
nww 27 asks about
5P PRW 9"VR 1PN

M PN2N DY K27 DA T

What is the Halachah if a non-Jew had relations with an
animal?

In this case,

RY5 5P RYR 75PN

There is only 150, because a non-Jew is also liable for
this 7725

But there is no 115, because as Rashi explains

POPIAND PRI 21T

Non-Jews are accustomed to this and are not ashamed of
it.

Also,

R3O ON RS 1777 POPRT

The Torah was not concerned for a non-Jew’s embarrass-
ment. ®

So, the question is:

oP PRW 9"VR 1PN

Is the nmna killed even for n5pn alone?

OR

YoM mopn

The 2 is not killed for n5pn alone?

2.
R0 27 asked about
HOPN PRY 9"VR 1OR

WD AW NN DY X2 ORI

What is the Halachah if a Jew had relations with an
animal unintentionally?

In this case,

R 75PN RYR OP

There is only 115p, the person is embarrassed, but there is
no nopn, because he was only a .

So, the question is:

ORPN PRY O"IR 5P

Is the mmna killed even for 5 alone?

OR

YA MoPN

The nais not killed for 15p alone?
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pbp pRw ©7vN nbpn
P4

I >
NN NNN2AN HY RaN 0201 TAY

What is the Halachah if a non-Jew had relations
with an animal?

In thiy case,
N5 pbp NN nbpn
There is only nbpn

because a non-Jew is also liable for this nap;
but there is no p5p,

because ay Rashi WMA/
PENIDN PO O3 1997
Non-Tews are accastomed ty thiy and are not ashamed,
Ao,
HINNI PN H5 D797 NOPH7
The Torah was not concerned
%ar w now-Jew’y embarrassment

pbm nbpn nopn
]2 ““NOp PRW D”VIN
The nona is not killed Is the npm killed
fornbpn alone? even for nbpn alone?

NOPN PRY D”VN O
P4

Al A
22192 NNNAN HY Ran HRIV?

1N

What is the Halachah
if a Jew had relations with an animal unintentionally?

In thiy case,
RS Ndpn RN pdp

There is only pbyp, the person is embarrassed,
but there is no n5pn, because he was only a 2.

pbm nbpn (2 nbp
]9D2 NOPN PNV D”DR

Is the nnina killed
even for pbp alone?

Thennna is not killed
forpbp alone?
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Nww 27 brings a proof to resolve his question of

1OP PRY 9"VR 5PN

From the following Braisa

PP PRI PO PRI POIIR PRY IR D

59 PV DRVT NN TIOR

17 5Y 7Opn 07RY X2 DRIN

The Torah required that upon entering Eretz Yisroel the
Yidden should destroy all n7wx *xy, trees that the o°1v1>
worshipped as 771 1712, because it caused a n5pn to the
o7p13, and in this case

R 115 RN 19PN

There was only 5pn through the non-Jews death, but
there is no nop for a non-Jew. Apparently, we say

1OP PRY 9"VR 5PN

Dedicated By:
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2 >
nbp PR 971N ndp»
v

MR N
1NN PRI PMWY PRI PHIIR PRY
N9 MW NNWH NNN NINR
17 9V N5PN DTRY X2 NN

The Torah required that upon entering Eretz Yisroel
the Yidden should destroy all mmwN ¥,
trees that the D> worshipped as M1 nTay,
because it caused a n5pn to the D>,
and in this case
R pbp RN NOPH
There was only nbpn through the non-Jews death,
but there is no pbyp for a non-Jew.
\ 4
/fp/wf@m‘%/, we
nbp pRW 9”VN NOPN
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The Gemara however challenges this assertion, because if
SO,

NP2 MHINWHI

RSO YOMN

If someone bows to his animal as an 7771 772y, the 7dna
should be killed and become forbidden in all benefits
even though there is no P5p?

And as Rashi explains, the Halachah implies otherwise
RIP TIORNRTD

M2 12975 723705

MW VPTAT 59D

Since the Pasuk needed to teach that a nmna that was
worshipped is disqualified for a Korban, this implies that
the 72 is permitted for personal benefits, and it does not
become X312 NON?

The Gemara therefore, makes the following distinction:
77WR '3, which are non-living things;

Are destroyed even for

5P PRW 9"VR 15PN

But

o7n Y3

POY RIDMI ONT

Living creatures, for whom Hashem has pity;
Are notkilled for

5P PRY 9"VR 15PN

A monais killed only if it causes both 15 mHpm;

Dedicated By:
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P4

If so,
INNN2Y MNNWNN
RY0OpPM) 70NN

If someone bows to his animal as an 1 N2,
the nwna should be killed and become forbidden in all benefits
even though there is no pbp?

And ay Rashio @q}ﬂww
the: Halachahy impliey dtherwise
HID PIVIHIN
D132 13905 73L) PIWMd
ME PITOL7 SO

Since the Pasuk needed ty teach
that @ sy that way wom/u’%zpe/ 7 /WW /ar a Korban,
thiy Wn/zﬁw that the syop i /zwm’#e/ ”&r /zerwnaﬁ éme%&z‘j/,

and it does not become WP yor?

D i
NYYNIND

nbp PRY ©”VN NOPN

But
D»N dya
1MmbY NopNY DNT

Living creatures, for whom Hashem has pity;
are not killed for
pbp PR 71N ndpn

Anpna is killed only if it causes both pby nbpm;
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RN 217 then brings a proof'to resolve his question of
ToPN PRY "R NP

From the following Mishnah in mn»2’ noon which teaches
that in order for 78’2 to be of Halachic significance, a girl
must be at least three-years-old: For example,

N2 DWTPNN TR O DI WHW N2

A girl of three-years-old, can be married through nxa.
NI 02 7YY N2 OR)

And she is acquired by the Yevam through nxea.

WR NWR DIWR 775V PI7M

If she is married, another man who performs x’a with her
transgresses the Issur of ¥R nWN.

POV NN 20Wn RVY 1Y IR IRDOP)

If she is a Nidah, one who performs 7ix’2 with her becomes
RDV.

11IN2 NYMR §7195 NO”)

If she is married to a Kohen she may eat Terumah.

1509 0910977 11 TR THY R

If an illegitimate man performs x> with her, she is
disqualified from Kehunah,

7N MR NPV 5D TR 7PHY X1 OR)

700 R AT DY PN

If one of those forbidden, performs 8’2 with her, they are
killed, but she does not get nr'», because

N7 PUIY N2 IR

A minor is not punished until she becomes a 75173,

The Gemara says

Y 5 TR

PN oN)

This also includes an animal which performed nx»a with
her;

And the Gemara initially assumes that for a 7110p there is
only 115p but no n5pn, because she is considered like a w
in that she gets no wny; nevertheless, the nnna is killed.
Apparently, because we say

PN PRY 9"VR PP

The nnais killed even for n>p alone.

DafHachaim.org

Ay P
NOPN PRY O”DR NOp
v

Mishnah in P12 NODY teaches
that in order for nva to be of Halachic significance,
a girl must be at least three-years-old:

TNR 017 07W WHW N2
IR22 NOTPNN

A girl of three-years-old,
can be married through nmn.

NRIP 02 MDY X2 OX)

And she is acquired by the Yevam
through nna.

WIR NOR DIWN N29Y P27M
If she is married, another man who performs nNa with her
transgresses the Issur of wN PWR.

N9Y12 NXR IRNVN)

1793 NN 259N RNV
If sheis a Nidah,
one who performs nNa with her becomes Rpv.

MIN2 NYOIIXR JNOH NO

If sheis married to a Kohen
she may eat Terumah.

D090 P TNR NYY K2
nYoo

If an illegitimate man performs nNa with her,
she is disqualified from Kehunah,

M2IYN DoN TNXR 1YY X2 ONX)
NMN2 MINKRD
NMLD XM - AT HY PPN

If one of those forbidden, performs nwa with her,
they are killed,
but she does not get nnm,
because
R PWNY N2 IR

A minor is not punished until she becomes an57a.

TIMMIY 9ON TR’
VDR 1ok

This also includes an animal
which performed nna with her;

And the Gemara assumes
that for anavp there is only pbp but no nbpn,
because she is considered like a 231w who gets no waw;
nevertheless, the npna is killed.
AWW%/ because we
NOPN PRY D”DR IO

The 2 is killed even for pbp alone.
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The Gemara answers

RYR DI TP RT ATIHT

For a muvp there is both 115p, and, also 5pn, because if she
committed the 172y willingly, she is considered like a
7. However, she is not punished, because

DY ORI RIOAN

The Torah spared her from nrn», because she is a mvp.
Therefore,

on AT Y

N RY AR

Only she was spared, but the n»n2 was not spared.

Dedicated By:
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N
R NTITNT N7
RIR 01 NYPN

For anwp there is both pbp, and, also n5pn,
because if she committed the n»ap willingly,
she is considered like a .

However, she is not punished, because

N5Y DNT NN NIHNN

The Torah spared her from nnw, because she is a navp.

Therefore,

DN NT'T Nby
DN R5 NpNanN

Only she was spared, but the npna was not spared.
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The Gemara now attempts to resolve these questions from

the way the Mishnah words the two reasons:
In the Xw9, the Mishnah first says
17 Y 1PN DTRY NRAW 95

Which refers to n5pn only;

And in the Xo°© the Mishnah says
PIWA NI AN RN ROW

77 5 159 HpoIw R T IORN

This refers to both n5p and 75pn;
As Rashi explains:

ROTIIT 1IN

RN

SpoIn

iRl

Now, if 75pn was already taught in the Xo'0, why did the
Mishnah need to mention n5pn again, separately, in the
RQ™?

The Gemara says that this resolves one of the two
questions, but we cannot determine which one:

Either

1o 15PN ROOTH

5P K52 75PN KW

The Xw’ comes to include even a case of 151 without
15p. Therefore,

nn2n Sy Xan

Sopn nna

OR

5P 1opPN ROOTH

15PN K92 PHp RW™

In the w1 the word 5pn means pop nopn and comes to
include even a case of n>p without 15pn. Therefore,
INWA BT Y R SR

Sopm i
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The Gemara now attempts to resolve these questions
from the way the Mishnah words the two reasons:

v

7 5p mopn oINS N ab

Which refers to n5pn only;

DY N2 A NN Now
7 5y 155 S 80 W 1aNn

This refers to both pbp and nbpn;

Ay Rashio Wl&my
15D 1D — HW I INON
ooPH WO — SppdEy

Now, if n5pn was already taught in the NoD,
why did the Mishnah need to mention nbpn,
separately, in the Nw»?

The Gemara says that this resolves one of the two questions,

but we cannot determine which one:

Either Or
NODTD NODTD
pomabpn (3 pbm ndpn
N : N
Nop kb2 NdPN nopN RO O

The v comes to include In the nw» the word nbpn
even a case of nbpn means pbp nbpn

without pbp. and comes to include even

Therelore, a case of p5p without ndp.

NDNIN OV N2 Therefore,
Svpp NN N2N DN
222 nan by
bvpm NP2
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